

IBE AMARACHI SHELVA
MECHANICAL ENGINEERING.

16/ENG061028.

ENG 881

ASSIGNMENT.

1) $\sqrt{y} = e^{x^2+x}$

Show that $y'' = y'(2x+1) + 2y$ and hence prove that
 $y^{(n+2)} = (2x+1)y^{(n+1)} + 2(n+1)y^n$

2) Using the Leibnitz theorem, given that,

i) $y = x^3 e^{4x}$, determine y^5 .

ii) $x^2 \frac{d^2 y}{dx^2} + x \frac{dy}{dx} + y = 0$, show that

$$x^2 y^{(n+2)} + (2n+1)xy^{(n+1)} + (n^2+1)y^{(n)} = 0.$$

SOLUTION.

1) $y = e^{x^2+x}$
 $\ln y = x^2+x.$

Differentiating both sides.

$$\frac{1}{y} \frac{dy}{dx} = 2x+1$$

$$\frac{dy}{dx} = y(2x+1).$$

$$\frac{d^2 y}{dx^2} = v \frac{dv}{dx} + u \frac{dv}{dx}.$$

$$v = (2x+1)$$

$$u = y$$

$$\frac{dv}{dx} = 2.$$

$$\frac{du}{dx} = \frac{du}{dy} \cdot \frac{dy}{dx}$$

$$= 1 \cdot \frac{dy}{dx} = \frac{dy}{dx}.$$

$$\frac{d^2 y}{dx^2} = (2x+1) \cdot \frac{dy}{dx} + 2y$$

$$\frac{d^2 y}{dx^2} = (2x+1) \frac{dy}{dx} + 2y$$

$$y'' = (2x+1)y' + 2y$$

$$y'' - (2x+1)y' - 2y = 0$$

$$y^{(n)} - (2x+1)y^{(n-1)} - 2y^n = 0$$

from for $y^{(n)}$
 with derivatives $y^{(n+2)}$
 for $(2x+1)y'$

$$u = 2y' \quad u' = y^{(n+1)} \quad \int^{(n-1)} = y''$$

$$v = 2x+1 \quad v' = 2 \quad v^{(2)} = 0$$

(Lösung durch Ansatz)

$$y^{(n)} = u^{(n)} + nu^{(n-1)}v^{(n)} + \dots$$

for $2y$

$$\text{with derivatives} = 2y^n$$

$$w_1^{(n)} = y^{(n+2)}$$

$$w_2^{(n)} = y^{(n+1)}(2x+1) + y^{(n+1)}$$

$$w_3^{(n)} = 2y^n$$

$$y^{(n+2)} - y^{(n+1)}(2x+1) - y^{(n+1)} - 2y^n = 0$$

$$y^{(n+2)} = y^{(n+1)}(2x+1) + 2y^{(n+1)} + 2y^n$$

$$y^{(n+2)} = y^{(n+1)}(2x+1) + 2y^n(n+1)$$

$$2.) \quad y^{(n)} = u^{(n)}v + nu^{(n-1)}v^{(1)} + \frac{n(n-1)u^{(n-2)}v^{(2)}}{2!} + \frac{n(n-1)(n-2)u^{(n-3)}v^{(3)}}{3!}$$

$$v = e^{4x} \quad v' = 4e^{4x}$$

$$v^{(2)} = 16e^{4x}$$

$$v^{(3)} = 64e^{4x}$$

$$v^{(4)} = 256e^{4x}$$

$$v^{(5)} = 1024e^{4x}$$

$$v = x^3$$

$$v^{(1)} = 3x^2$$

$$v^{(2)} = 6x$$

$$v^{(3)} = 6$$

$$v^{(4)} = 0$$

$$u^{(n)} = 4^3 e^{4x} = 1024 e^{4x}$$

$$u^{(n-1)} = 4^{(5-1)} e^{4x} = 256 e^{4x}$$

$$u^{(n-2)} = 4(3-2)e^{4x} = 6e^{4x}$$

$$u^{(n-3)} = 4(3-3)e^{4x} = 16e^{4x}$$

$$y^{(5)} = 1024e^{4x}x^3 + 5 \times 256e^{4x} \times 3x^2 + 5(3-1) \times 64e^{4x} + 6x + 5(3-1)(3-2) \times 16e^{4x}$$

$$y^{(5)} = 1024e^{4x}x^3 + 3840e^{4x}x^2 + 2688e^{4x}x + 5760e^{4x}$$

$$y^{(5)} = 1024e^{4x}x^3 + 3840e^{4x}x^2 + 3840e^{4x}x + 960e^{4x}$$

$$y^{(5)} = e^{4x}(1024x^3 + 3840x^2 + 3840x + 960)$$

ii) $x^2 \frac{d^2y}{dx^2} + x \frac{dy}{dx} + y = 0$

$$x^2 y'' + x y' + y = 0$$

$$x^2 y^{(2)} + x y^{(1)} + y = 0$$

For $x^2 y^{(2)}$

$$u = y^{(2)}$$

$$v = x^2$$

$$u^{(n)} = y^{(n+2)}$$

$$v^{(1)} = 2x$$

$$u^{(n-1)} = y^{(n+1)}$$

$$v^{(2)} = 2$$

$$u^{(n-2)} = y^{(n)}$$

$$v^{(3)} = 0$$

For xy'

$$u = y'$$

$$v = x$$

$$u^{(n)} = y^{(n+1)}$$

$$v^{(n)} = 1$$

$$u^{(n-1)} = y^{(n)}$$

$$v^{(2)} = 0$$

$$u^{(n-2)} = y^{(n-1)}$$

For y

$$u = y^{(n)}$$

Applying Leibnitz theorem

$$y^{(n)} = u^{(n)} + n u^{(n-1)} v^{(1)} + \frac{n(n-1) u^{(n-2)} v^{(2)}}{2!}$$

$$w_1^{(n)} = y^{(n+2)} x^2 + n y^{(n+1)} \frac{2x + n(n-1) y^{(n)}}{2!} + \frac{n(n-1)(n-2)}{3!} y^{(n-1)} \cdot 0$$

$$w_2^{(n)} = y^{(n+1)} \cdot x + n y^{(n)} \cdot 1 + \frac{n(n-1) y^{(n-1)}}{2!} \cdot 0$$

$$\omega_3^{(n)} = y^{(n)}$$

$$\omega_1^{(n)} + \omega_2^{(n)} + \omega_3^{(n)} = 0$$

$$x^2 y^{(n+2)} + 2xny^{(n+1)} + n(n-1)y^{(n)} + xy^{(n+1)} + ny^{(n)} + y^{(n)} = 0$$

$$x^2 y^{(n+2)} + xy^{(n+1)}(2n+1) + y^{(n)}(n^2 - n + n + 1) = 0$$

$$x^2 y^{(n+2)} + xy^{(n+1)}(2n+1) + (n^2 + 1)y^{(n)} = 0$$